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September 2022 Current Affairs Test 

Name :_______________________         No. of Questions : 55 

Time : 60 min.            Total Marks : 55 
  

1. Which of the following statements is/are correct regarding to Pingali 
Venkayya? 

  
1. Venkayya was born in Machilipatnam.  
2.  He joined the British Indian Army and was in South Africa 

where he met Mahatma Gandhi 
3.  he published a book of flags containing 30 different designs in 

1916. 
4.  The first design comprised only two bands—red and green—

and a charkha but on the insistence of Mahatma Gandhi, 
Venkayya added a white band. 

 
A. Only 1 is correct. 
B. Only 2 & 3 are correct. 

C. 1, 2 & 3 are correct. 
D. 1, 2, 3 & 4 are correct. 

 
2. India’s first Saline Water Lantern name is? 

 
A. Prabha  B.  Ujala.  C. Roshini. D.   Prakash. 

 
3. Pharmacopoeia Commission is associated with which of the following? 

 
A. Indian Medicine   B. Indian Hospitals 
C.  Indian Medical colleges D. None of the above 

 
4. Which Country has awarded L&T’s Shipyard at Kattupalli for 

undertaking maintenance of the ship -  Charles Drew? 
 

A. Germany  B.  USA   C.  Britain         D.  Russia 
  

5. Which Two countries participated in Bilateral Exercise ‘Udarashakti’ ? 
 

A. India and Thailand.  B.  India and Malaysia. 
C. India and Indonesia. D. India and Bangladesh. 
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6. Which Defensive forces participated in the Bilateral Exercise 
‘Udarashakti’ ? 
 

A. Indian Air force   B.  Indian Navy 
C.   Indian Armed Forces  D.  All of the above 

 
7. India will soon be holding the presidency of G20 countries.  Which of 

the following statement is Correct in terms of G20 countries? 
 

1. The G20 is made up of 19 countries and the European Union 
2. The G20 was formed in 1999 
3. Together, the G20 members represent more than 80 percent of world 

GDP 
4. The G20 has a permanent secretariat at Geneva. 

 
A. Only 1 is correct.  B.  Only 2 & 3 are correct. 
C.  1, 2 & 3 are correct.  D. 1, 2, 3 & 4 are correct. 

 
8. “Ex Vajra Prahar 2022 is military exercise of india and ……….. ? 

 
A. Thailand.  B. USA  C.  Indonesia. D.  Sri lanka. 

 
9. Who is known as the Father of the Mauritian Nation, he is also the first 

Prime Minister of Mauritius? 
 

A. Sir Seewoosagur Ramgoolam  B.  Sir Alex Fergueson 
C.  Shakeel Mohamed    D.  None of the above 

 
10. Which day is observed as ‘Aapravasi Day’ in Mauritius. 

 
A. January 9  B.  October 8 C.   August 7  D.  November 2 

 
11.  Which of the following sentences are correct in context of -RIMPAC 

2022 ? 

1. RIMPAC-22 is one of the largest multilateral naval exercises in which the 
Indian Navy also participated. 

2. The RIMPAC started in 1971 as an annual exercise by the US, Australia, 
and Canada. 

3. India first participated in RIMPAC in 2016 
4. The theme of RIMPAC 2022 is ‘capable, adaptive, partners. 
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A. Only 1 is correct.  B.  Only1, 2 & 4 are correct. 
C. 1, 2 & 3 are correct. D. 1, 2, 3 & 4 are correct. 

 
12.  When was Handloom Export Promotion Council (HEPC) was 

established? 
 
A. 1965  B.  1968  C.  1969   D. None of the above 

 
13. Which country is the biggest importer of handloom products from 

India? 
 
A. Britain  B.  Germany       C.  UAE D.  USA 

 
14.  Which of the following sentences are not correct About Handloom 

Sector in India 
1. The handloom sector of India is one of the smallest organized economic 

activities. 
2. The handloom industry in India has a long tradition of outstanding 

artisanship that represents and preserves vibrant Indian culture. 
3. The handloom sector of India has the advantage of being less capital 

intensive, eco-friendly, having less power consumption and the ability to 
adapt to market conditions. 

4. The industry primarily employs women workers with a share of 72.29% 
of the total handloom workers. 

 
A. Only 1      B.  Only1, 2 & 4  C.  1, 2 & 3              D. 1, 2, 3 & 4 

 
15.  When was the first National Handloom Day Celebrated ? 
 
A. 7th August 2012  B.   7th August 2013 

   C. 7th August 2014.  D.  7th August 2015 
 

16.  Centre of Excellence for Khadi was established with the technical 
support of which of the following ? 

 
A. Scheme of Fund for Regeneration of Traditional Industries. 
B. The Khadi and Village Industries Commission 
C. National Institute of Fashion Technology. 
D. Khadi Gram Udyog. 
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17.  Which scheme’s Second edition was launched to assist farmers in 
transporting agricultural products so that it improves their value 
realisation? 
 

A. Krishi Plane  B.  Krishi Viman 
C.   Krishi Vayu.  D.  Krishi Udaan 

 
18.  “SANKALP” stands for ? 

 
A. Skill Acquisition and Knowledge Awareness for Livelihood Promotion 
B. Skill Acquiring and Knowledge Awareness for Livelihood Program 
C. Skill Acquisition and Knowledge Awareness for Livelihood Program 
D. Skill Acquiring and Knowledge Awareness for Livelihood Promotion 

 
19.  Consider the following pairs 

 
Day     Date 
World Sanskrit Day   August 12 
National Handloom Day  August 7 
Pravasi Bharatiya Divas  January 9 

 
Which of the given pairs above are correctly matched? 

A. 1 and 2     B.  2 only  C.  1 and 3  D.   1, 2, and 3 
 

20.  Sanskrit is more perfect than Greek this statement was quoted by ? 
 

A. Alexander Cunningham  B.  William Jones 
C.   Panini    D.  Daya Ram sahni. 

 
21.  About the Office of Vice President which of the following statements 

are not correct 
 

A. The Vice-President occupies the second highest office in the country 
B. The vice-president of India is the ex-officio Chairman of the Rajya Sabha 
C. As a presiding officer, the powers and functions of the Chairman in the 

Rajya Sabha are similar to those of the Speaker in the Lok Sabha. 
D. He should be qualified for election as a member of the Lok Sabha 
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22.  Consider the following pairs 
 

Article 63: The Vice-President of India  
Article 64: Term of office of Vice-PresidentStates 
Article 65: The Vice-President to act as President or to discharge his 
functions during casual vacancies in the office, or during the absence, of 
President  
Article 66: Election of Vice-President 
 

Which of the given pairs above are correctly matched? 

A. 1 and 2  B.  2 and 3  C.  1, 3 and 4 D.  1, 2, and 3 
 

23.  Which schedule mentions about s Anti-Defection Law? 
 

A. Schedule X   B.     Schedule IX 
C.        Schedule XI   D.     Schedule XII 

 
24. When was first World Sanskrit Day Celebrated? 
 

A. 1969  B.  1972           C.  1975          D.   1979 
 

25.  Which of the following statement is not correct? 
 

A. Any Political party seeking registration has to submit an application to 
the Election Commission within a period of 30 days following the date 
of its formation. 

B. This is as per guidelines prescribed by the Commission in exercise of 
its powers conferred by Article 326 of the Constitution of India.  

C. The registration of all political parties is governed by the provisions of 
Section 29A of the Representation of the People Act, 1951.  

D. All are Correct 
 
26.  Who is appointed as 49th Chief Justice of India ? 
 

A. Krishna Murari    B.  Uday Umesh Lalit 
C.   S Ravindra Bhatt    D.  V Ramasubramanian 
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27.  Which of the following sentence is correct about Supreme Court? 
 

A. The Supreme Court of India was inaugurated on January 28, 1950 
B. It succeeded the Federal Court of India, established under the 

Government of India Act of 1935.  
C. The jurisdiction of the Supreme Court is greater than that of its 

predecessor,this is because, the Supreme Court has replaced the British 
Privy Council as the highest court of appeal 

D. All are Correct 
 
28. Which of the following sentence is not correct about Supreme Court 
Judges? 
 

A. The judges of the Supreme Court are appointed by the president. 
B. The chief justice is appointed by the president after consultation with 

such judges of the Supreme Court and high courts as he deems 
necessary. 

C. The consultation with the chief justice is obligatory in the case of 
appointment of a judge other than Chief justice and the word 
consultation has same interpretation.  

D. The other judges are appointed by president after consultation with the 
chief justice and such other judges of the Supreme Court and the high 
court’s as he deems necessary. 

 
29. Which of the following sentence is not correct in context of Qualifications 
of Judges? 
 

A. He should be a citizen of India. 
B. He should have been a judge of a High Court (or high courts in 

succession) for five years; or 
C. He should have been an advocate of a High Court or District Court (or 

High Courts in succession) for ten years; 
D. He should be a distinguished jurist in the opinion of the president 
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30. “New India Literacy Programme” will cover all the aspects of Adult 
Education to align with National Education Policy 2020 and Budget 
Announcements 2021-22.Time Period for “New India Literacy Programme” 
is? 

A. 2020-2025 
B. 2022-2025 

C. 2022- 2027. 
D. 2025- 2030 

 
31.  Consider the following pairs About First Cabinet of Free India (1947) 

 
1. Jawaharlal Nehru 1. External Affairs & Commonwealth 

Relations;  
2. Sardar Vallabhbhai Patel 2. Home, Information & Broadcasting; 

States 
3. Dr. Rajendra Prasad 3. Industries & Supplies 

4. Sardar Baldev Singh 4. Defence 
 

Which of the given pairs above are correctly matched? 

A. 1 and 2     B.  2 and 3  C.  1, 2, and 3     D.   1, 2 and 4 
 
32. Which of the following sentence is not correct about The Indian Antarctic 
Bill, 2022 and Indian Antarctic? 
 

A. The Bill seeks to give effect to the following: o Antarctic Treaty-  

 The Convention on the Conservation of Antarctic Marine Living 
Resources, and the Protocol on Environmental Protection to the 
Antarctic Treaty.  

B. The bill aims to ensure militarization of the region along with of mining. 
C. India today has two operational research stations in Antarctica named 

Maitri (Commissioned in 1989) and Bharati (Commissioned in 2012). 
D. The Convention on the Conservation of Antarctic Marine Living 

Resources was signed at Canberra in May, 1980. 
 

33. National Tiger Conservation Authority (NTCA) for transcontinental 
relocation of ‘Cheetah’ has signed MoU with which of the following PSU? 
 

A. Indian Oil   B.  Hindustan Petroleum 
C.    Bharat Petrol  D.  None of the above 
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34. Which of the following sentence is correct about Kuno-Palpur National 
Park? 
 

A. Kuno is a national park in Madhya Pradesh 
B. It was established in 1981 as a wildlife sanctuary in the Sheopur and 

Morena districts 
C. Kuno was upgraded to National Park status from a Wildlife Sanctuary in 

the year 2018. 
D. All are Correct 

 
35.  How many wetland sites are there in India? 

 
A. 75  B.  64   C.  54   D.  49 

 
36. Consider the following pairs About wetlands designated as Ramsar sites 
in India ? 

 

Koonthankulam Bird Sanctuary 1. Tamil Nadu  

Nanda Lake 2. Goa 
Sirpur Wetland 3. Madhya Pradesh 

Satkosia Gorge  4. Odisha 
 

Which of the given pairs above are correctly matched? 

A. 1 and 2         B.  2 and 3               C.  1, 2, and 3               D.  1, 2,3 and 4 
 
37.  Which is a premier Technical Organization of India in the field of Water 
Resources?  
 

A. Central Water Commission  B.  Ministry of Jal Shakti 
C.  Department of Water Resources D.  River Development and Ganga  

      Rejuvenation 
 
38.  World Elephant Day is observed on? 
 

A. August 02   B.   August 12  C.  August 21  D.  August 22 
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39. Which of the following sentence is not correct in context of Elephants? 
 

A. (MIKE) Programme: is related with Elephants started in 2008. 
B. There are 30 notified Elephant Reserves (ERs) in the country spread over 

15 states 
C. About 60% of the Asian elephant population is in India. 
D. Project Elephant was launched in 1991-92 as a Centrally Sponsored 

Scheme of the Ministry of Environment and Forests. 
 
40. Yashwant sagar Lake is in Which state? 
 

A. Chattisgarh   B.  Rajasthan 
C.  Uttar Pradesh   D.  Madhya Pradesh 

 
41. Which of the following sentence is correct in context of UPI? 
 
Sending money on the UPI is called a “push.” 
Receiving money through the system is called a “pull.” 
 

A. Only 1 is correct    B.  Only 2 is correct 
C.  1 and 2 both are correct   D.  1 and 2 Both are incorrect 

 
42. What is full form of QR Code?  
 

A. Quick Receive   B.   Quiet Response  
C.  Quick Response  D.  Quiet Receive 

 
43. What is the Full form of UPI? 
 

A. United Payments Interface  B.  Unified Paying Interface 
C.   United Payments Interchange  D. Unified Payments Interface 

 
44. Which of the following sentence is not correct in context of NPCI? 
 

A. NPCI stands for National Payments Company of India. 
B. The NPCI  is an umbrella organisation for operating retail payments and 

settlement systems in India. 
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C. It is an initiative of Reserve Bank of India (RBI) and Indian Banks’ 
Association (IBA) under the provisions of the Payment and Settlement 
Systems Act, 2007. 

D. Considering the utility nature of the objects of NPCI, it has been 
incorporated as a “Not for Profit” Company under the provisions of 
Companies Act. 

 
45. Recognition of start ups in India is done by? 
 

A. The Department for Promotion of Industry and Internal Trade (DPIIT) 
B. The National Association of Software and Service Companies (NASSCOM) 
C. Ministry of Electronics & IT (Miety) 
D. The Associated Chambers of Commerce and Industry (ASSOCHAM) 

 
46. What are the Easy and convenient modes of digital payment in India ? 
 

1. Bharat Interface for Money-Unified Payments Interface (BHIM-UPI),  
2. Immediate Payment Service (IMPS),  
3. Pre-paid payment instruments (PPIs ) 
4. National Electronic Toll Collection (NETC ) 

Options- 

A. 1 and 2  B.  2 and 3  C.  1, 2, and 3   D.  1, 2,3 and 4 
 
47. About 98% of the coal fuel in India comes from which coal Region ? 
 

A. Gondwana   B.   Dharwar 
C.   Cuddapah   D.  None of the above 

 
48. National Rail Plan (NRP) for India is the Plan to create a ‘future ready’ 
Railway system by the end of which year? 
 

A. 2025  B.  2030  C.  2035  D. 2040 
 
49. How many railway zones are there in India (excluding Metro Railway, 
Kolkata)? 
 

A. 17    B.  16      C.  15  D. 13 
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50. Headquarter of The International Telecommunication Union is located at? 
 

A. Vienna   B.  New York 
C.   Geneva   D.  Washington 

 
51. Supernovae are what happens when a star has reached the end of its life 
and explodes in a brilliant burst of light. Which of the following sentence is 
not correct in context of SUPERNOVAE? 
 

A. They’re secondary source of heavy elements in the universe 
B. A supernova is the biggest explosion that humans have ever seen 
C. This happens when a star at least five times the mass of our sun goes out 

with a fantastic bang. 
D. Each blast is the extremely bright, super-powerful explosion of a star 

 
52. Udyam Portal is associated with? 
 

A. MSME’s   B.   TELECOM 
C.   FISHRIES   D.   NONE OF THE ABOVE 

 
53. Rashtriya Krishi Vikas Yojana was initiated in which year ? 
 

A. 2005  
B. 2007 
C. 2010 
D. 2014 

 
54. Lumpy Skin disease was recently in news, which of the following sentence 
is correct in context of Lumpy Skin disease? 
 

A. Lumpy skin disease is an infectious Bacterial disease of cattle. 
B. The disease is characterized by the eruption of nodules in the skin, which 

may cover the Upper part of the animal’s body. 
C. It causes fever and nodules on the skin, but cannot lead to death. 
D. It is transmitted by blood-feeding insects, such as certain species of flies 

and mosquitoes, or ticks. 
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55. DRDO has three dedicated laboratories for application orientated 

research in AI in different domains. Which of the following is not the part of 

this dedicated laboratories. 

A. Centre for Development of Advanced Computing, Pune 
B. Centre for Artificial Intelligence and Robotics (CAIR), Bengaluru  
C. DRDO Young Scientist Laboratory (DYSL)-AI  
D. DYST-CT (Cognitive Technology). 


